EARAROBEEIERT — 2 N— IBISH —F

20165128198 (A) 8mEZKIR6H

m 2WMC2=# 7% 2% \ (X&) W \ el — |4 (&) 13000 &
[A&4£] 1% :380,000" ~ 23#%&:76,000 M  33%&:38,000M” . 43%&:27,000MH .~ 57&:11,000
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
AXEA—A4Ty b Ho2 gg%’fé— 1:(2_3).3 1-1-1-1 [ 39.1| — 1 488 gé%# (KiR)
LN HNE B E Y- b 0 | gy e nesg
2V Y AOvL R # o2 ;g%i’ 1:(243).9 2222 [39.4| — | 2 | 465 ;g%ﬁ (KiR)
RTYUETyk BAYK—I—F17 @) | mmx sy K
S B2 | BIERSEMR 1:25.1 6-6-3-3 | 40.0 | — 6 436 | TEEfAE (BERE)
?'f l‘{[’?V 54.0 @) (-18) RABE—
LhVX=T71v7 B:Hrav< Y]
= o2 | SR 1:25.6 7-7-7-7 | 40.1| — 4 431 |HEEFE (KR)
#7'7/ 55.0 3) (45) KRBFIX
R:FEY KY227 BRYULIINT 1 T—I KT 7—L
N . A ENE .05, 36— . — BAZER] (KiR)
50111 Ky—samAvw> X 4 2 A511_—0 1(12/52)7 3-3-6-5 | 40.6 7 :1_031) gl
gy BXT) a4 .07 FRAIS
. s 2 | WEEHE— 1:25.9 3-4-4-4 | 40.9| — 5 402 | IiEfaZE (R&ME)
6177 gLt rO-Jb 54.0 (1 1/4) 6) RIBE—
L:hT74=>F B:AXRITL—X =i-Ealibae]
.= N R AF8E : 55— — RINRE (KR
7 4 KSAELSLA 2 o (12216/2?3 5-5-5-5 | 41.3 3 (4_650) PN (
R:TLLFFEaATF1 BRIATIAH— LS
® I —F—EBIERL
13=7r= 3,5,(1,7),4,6,2
A== 3,5,1,7,4,6,2
Jol=5r= 3,5,6,7,4,1,2
40—+ — 3,5,6,7,(1,4),2
[ N3
BB 3 130H4 714K 3-5 100H B = 3-5 110H 3EHE 3-5-6 1,120H
8 B 3 1004 3-6 630 B H Bgd 130H K31 3-5-6 1,670M
5 110 5-6 430

ABICOVWTRDTEEERROODE. TR LIV,




